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the question Paper in the given spice.

Weite yous 12 digit 10N 10 Roll Noviber-aad your natie on top
Kesult,

2 Filling up Lnprapor Roll Nusbe:
ey oquil marks 0f 3 ks each wheseas

Tho question paper consists of 30 quostions. Quetion 18110 25th ¢
question 2611 1o 90t carry equal marks of 5 ks e1eh.

Wit yonr ansseeraA, B Cor D) i the iven o [] inthe queston paper with Peafonci

s 4 paes

5. The question paper co

130 not stast attempig the test papar until you aro asked to o 5o

1 How will you write the following figure?
fele le lele]
(eleolele e
Answer []

(A1 25 (8) 2x6 (€) 24 (D)A of these

2. Which one of the following numbers is equal to 6 more than 12?
") 1 ®) 15 ©1 ()18 Answer [

3. How many circles are there in the figure?

® 1 013 (014 Answer [}
(




[image: image2.jpg]4. What is the time shown by the clock?

(A) 50" clock (8) 60" clock (€) 49’ clock (D)7 o'clock Answer

5. 3tens+9ones=?
(139 (8) 93 (€1 (D)None of these  Answer|

6. Which one of the following options has smallest number?

(a1 200 ®| 220 (©] 450 () 555 Answer

7. Find the missing number.

17'14 16| 18|20 ? 7|

mz2 (822,23 () 22,24 (D)None of these  Answer

8. Add the numbers written in the picture and subtract 4 from the sum.

(a)18 (8) 17 (€) 20 (0)16 Answer]

9. Subtract the following:

(a1 ®) 2 ©3 (D} None of these  Answ

s - ros 2| e
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11. Write in words. 12 < 19,

(A) Twelve is greater than nineteen (B) Tweleve is less than nineteen

(€) Tweleve is equal to mineteen (0) Noe of these Answer []
12. Find the vaive of [__|

([} [J=»

(420 s (€ 10 ()8 Answer []
13. Subtract the following

e e eE ows o e

e Al vaipy CREp R g

B e S o 3

(s i ¢ G LG b G Lol

w7 8) 6 s o) AMWHD
1a. Fill in the blanks with correct symbol.

(A< (8> (D)None of these  Answer []
15. Write 79 in words.

(A} Seven nine (B) Seventy nine  (C) Sixty nine {D)None of these  Answer [ 7]
16. Which one of the following numbers represents Fifty nine?

n e (8) 4 (©) 59 (0)None of these  Answer []
17. How many tens and ones are there in 672

(A) 5 tens and 7 ones (B) 6 tens and 9 ones

(€) 6 tens and 7 ones (D) None of these Answer[]
18. What comes after 99?7

() o8 (®)%0 (©) 101 (0)100 Answer[]
19, Study the pattern and choose the correct option?

10,15,20,25,30

{A) Skip counting (2) counting (5)

(C) Skip counting (3) counting (6) Answer ]
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[image: image4.jpg]20. 1dentify the shape of the given figure.

e

(A) Square (8) Circle (€) Triangle (0) Rectangle Answer

21. Which one of the following days comes before Friday?
[A) Saturday (8) Monday (€) Thursday (D) None of these  Answer

22. Which one of the following is the first month of the year?
(A) January (8) July (C) November (D) December Answer

23. Find the greatest number from the following:

(D) None of these  Answer.

24. There are 7 boys and § girls standing in the garden. If 7 more boys and 2 girls join th
then find the total number of boys and girls in the garden.
w2 (8) 12 o {o)21 Answer |

25. How many 25 paisa coins make Rs. 47
(A) 13 (B) 12 (€) 15 ()16 Answer

26. Steve divides 24 toffees among 6 boys. How many toffees cach boy will get?
{A) 3 toffees {B) 4 toffees {C) 5 toffees (D)6 toffees Answer |

27. 1f Sunday is the first day of the week then which one of the following days is the four
day of the week?
() Friday (B) Monday (€) Wednesday (D) Tuesday Answer |

28. Write the missing number.

BODn

@9 )10 Answer|
29.9 tens and 9 ones - 7 tens and 4 ones = E
(A) & tens 5 ones
(8] 2 tens 5 ones
(€] 3 tens 3 anes
(D) None of these Answer

30. Which one of the following options is equal to 150 paisa?
(A) 25paisa + 25paisa + Rs 1
(8) 10paisa + 20paisa + 20paisa + Rs 2
(C) 10paisa + 20paisa + 20 paisa + Rs 3
(D) 15paisa + 40paisa + 20paisa Answer []
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